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1 Home Science

Mapping gas stove, Stir, liquid, hardens
Reading Comprehension 1a 2 lips don’t produce protective oils 3¢ 4b 5c¢

|
mjHot 2, Qe (Ual) BEsHs 7122 MM5HX| a. Gtittel S nsofet
7

b.
c. 2ol glojot & xh=z
d. |

2 Y2 EA EE?

AHLISHH UE2 (UES) ES5hE 7122 MG 7| 2

U EE s ojct,

FEFE2E 3 Y NEHS 02X 22 ARe?
cOIZERAEE S a. Kelly: Li= 2 £ 2 22 4900,

- QFIX|, 2fIH, T= HIHTIER} Z2 E2 77t L= oldllE @ HE 22 = b. James: Li= HIRIES Z0lsiA HHIIE @Y Bt Xt

&= 22001,

2EES 0L 7| st HH|of U, B, 12|71 O}2C QUS Hrt JEAHQIX|0fA 6. Amy: Lie TESE 4 B0l 510,
ofst 22 1SS BF EQICt 1211 LA oMM @of Y1 K=Ch CHSof, 1 4. Paul: LE= AIZ517| Fo| SHES AlSi0]
RIS Xt PHEEH 870 RECh O BHES Als| 27| DS Xielo| Zo| Wit
SHALS O[] ZollA] BHE TAIRto| 2t 21| EI9ACY, 4 BESIOlE MEst BR3P S SR RSN
a.=
23 RS Do Ziof| off TS 127t QIS7K? IS HAle| 2 mig b. Wt
OllA] XIHRo R YR 7|22 Dusto RN ARSICE CHA| Lsf, IXHS HAlo| c. ol2E 2y
Uss #55ln 222 BT S MEEICH YL TS ARsHX|A sl d. old 24
CIE MESS & STAIZICH ot2E 2e2 File] IIRE ZIFAIZ|1 E=514 5 0| 20| M2, [} = ARAO| Ol ZH2?
SiCh &2 Sto] £ ZEkX m|§9| XIRE &=Lt ol Y2 7|12 £2 &t a. THAIS 747 AEEOIM B HRSS A 4 i
Ot2 OHSO| L} UL O|&3 ZIEHSHA| EollA SHRES otel Dite AlTs b. 2HIc 22 o @olct
=2 2 0lr} c. E2 MZSS el STAIZIC
d. Ol2E U2 o] E Uas E=6H sttt
of &
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1@ Allow the mixture to cool and harden before you put the lid on.
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6] It works by imitating the oils [naturally found in the rest of your skin].
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R2 Pectin ==

Summary spread, stiff, released, moisture
Reading Comprehension 1d 2 its large starch molecules can connect together 3a 4b,d 5c
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138 People use a substance [called pectin] to change fruit juice into thick jam through a process [known as gelation].
4 [ S

= Z &1 [ |= a substanceE, & il [ J= a processE 4+416k= THEAF0(CE to changes SXE LEHE 2AE 89| to2HAIZ, 37 |7] ¢

521 Thanks to the chemical properties of pectin and its ease of availability, it is possible to make a wide variety of jellies,
=501 1 =50]2 7120 R

jams, and preserves — even in your own home.
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Word Review Test

A 1.stiff 2. availability 3.chap B 1. protective 2. property 3. molecule 4.substitute ¢ 1.d 2.b 3.a 4.b
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2 Environment

Mapping waste, better, environment, money
Reading Comprehension 1d 2 reusable items, new products that are of better quality 3a 4b 5b
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62 Recycling involves taking waste products and turning them into reusable items, or fixing waste products so that

they can be used again.

- taking, turning, fixing0| 0111= M| 72| 77t SAt involves 2| SM0{= MRALCE Tso that ~ can ....= ~7t -

o

4 QlE='o| ojnjo|ct,

o0& The basic concept of upcycling is [that new, more desirable products can be made from old, worn out things].

- [ J= ZF0{(The basic concept of upcycling)s 25 AHsliF= Ho{=o|ch

2] They might upcycle [to show their children how to be environmentally conscious], or they may simply want

to enjoy a fun hobby.

= [ J= SXS UEi= 2AE 882l toRHAI0|H, their childrenzt how to 0[6171 212 SAF showe| ZHI=EXI0{9f ZIHS X2 ML,



pp.18~19
R2 Polyculture =&zx

Summary erosion, sustainable, imitates, pesticides
Reading Comprehension 1b  2b 3¢ 4b,c 5various plants mature at different times
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@ For thousands of years, humans have tried to learn better ways [to grow the crops {that feed billions of people}].
[ S ]

ol 4 B7UEAREoICt,

= [ J= waysE A5k to2YAF0| 1, { }= A3t the cropsE 44

(2] While polyculture has not caught on with commercial farmers yet, growing problems with monoculture [make it
likely {that more of them will be employing it in the future}].

- Z&AF while2 thEO] on|2 MW, [ J= 'make + SX01 + S5 AE0{,9| 54 FxQIH| ofuf it2 7H=X0{0(2 { )7 TS X{0{0|ct

Word Review Test

A 1.deplete 2. creative 3. biodegradable B 1.recycle 2.transform 3. cultivate 4. sustainable
c1.d2a3bd4db
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3 Movies
pp.22~23

Summary  worst, potluck, comical, collected
Reading Comprehension 1d 2 blow, dissatisfaction 3¢ 4b 5d

DE GRS QINITF A2 AABI|S BHCE SIXIOE DS0| K| o= S 1 BE xS 2ok
Z0lat 3t 74x| A0 YO, BE 2ixH2IA0|ct 0] A2 11 8io| Zloto| HstollA| a. 71 45t 20| Mmy|of et 4
SO0ZICk 742 1981H0l| & Y20l2t= 0152 Fst DBAE] s ARt=IRICH b. FER Opinlge| 284
sioich, 222 oFthinjAo| Hals dioll ZE BHRS ZFEGHE i ol sl c. AlMS0| EoR L= olget 28
d. E2[RE x|eto] Fstof Chst &
1= FHD| 0}0|C|0f7F AZIITE = T19] Al BX|2 HTHS OHST 19 FHE
2=l BAIEE QUQICH I LhY T 1 6HO| 21240 SISO T Al 2 of BiAS To| Ao| AR AhEHE|E Metgisp
LIR Z=Qict ZAlo| 2t=HIZ|E E(GIE 2o 42|12 UM OFRE 2YY)
I, J%2 SCES LIEHLE O] ARRElE 271 A2|E oE
QY ZE aixH2lA, 0N UXIN'S SRSCSOIM SHsict siX|gt of Ui ol
=a=

o aZ0| “SE =22t F2l=71? g2 Hol 222’2l £ CHE ojolet
A7} UCE "HE RO AEIE LHo OFRE E2LH7I" flsiM=, Etl2 Y& A0lZ2
S WHZO 2k 0of RZ a2l SUES LIEHE Ol AEE7| w0, E&2
2t=H|2|7F XpAISf o % of &Zlol2fu 2L

3 ZE 2t=H2l&oll thishM SHI27| olshX| 25t AR2?
. Sean: O HIRE2 MN|Z XIAlo| M4 gtor| 2Cf,
. Georgia: OK=ELE= AHIAE ARMZO0| £A5H ZAECH H

B2 BRINS SARICE

o Qo

_ - - Mg 222 5t =5t &3 AtTE QA
Zd% %6|'X| opEEl_. G}IIE.‘_P c. Anna: M=t E£2 St H SUst Fst=2 XAt
7ake Attt

d. Henry: 2732 of7iH|ol&o] Ea|H ol g2l ZE

22 ol T HPE BE BxHENE wE
=, O HISSS of2f  SARCL DT BB 4 2RI
= H

=5
o =
TR AHIAE ARMEN 5SHO| OR=LIZL QT O HiS

o 0| A2 HE= 74
== 0 &8 2= 2 BERIO|M AJRHEIACY,

olsl Z3feiX|l= gHHo||, £ CHE HIRE2 AXE JNS 2oy 8 H 19880,

gl FAH|= 79| XA 3 QUt T2, 0 27|AIE, 201040f|, ME=at 4 ZE 2t=HE|doll el SEElX| 2 H2?

= o
=52 0k etz ”AZYE J2|1 OE F3iz dAldE ’é!?ﬂ'ih

a. £t a8 st
b. 370 0{EA REH=7t
c. 12242| 0|20] ool A=}
d. 571 3740 YHE HABH=7}

5 ZE 2tRHEIAS T1E T B TOE?
a. Mzist b. B2 2ajelo7|=
c. 288 d. oAzl

of &
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-

22 However, there’s one award [(which/that) they would prefer not to get] — a Golden Raspberry Award.

[ S _

- [ J= one awardE $Al5H= HACHHAIER ol| get2] SX0{Q! S22 TACHHAF which = that0| A2FE|0] QICE tia(—) 72| a Golden Raspberry
Awarde one award?t S20{720|c},

ezl At the top of the list are [Sylvester Stallone with 4 Razzies and Madonna with 5].

= 501+ SAH RARLL 1A 2800, /XIS UE= SAE ZZ00d 22 M ol FHAM =012t SAZH EXIE 5o [ 17+ F:0ioct,

HO



pp.24~25

R2 MacGuffin 7w

Summary plot, destroying, exciting, characters
Reading Comprehension 1 mysterious objects that set a movie’s plot in motion 2d 3¢ 4b 5d
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have ~ in common ~2 ZExo=z 2w Ut mysterious [mistioriss] 27tAlelt  object [dbdsikt] 274 set ~ in motion ~2 Sxlo|H|(&7| wAH) shct
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38 From the golden ring [in The Lord of the Rings movies] to the rabbit’s foot [in Mission: Impossible 3], there are
HIE 5014€ClL T HIE 1aDDIL 5 100t
many examples of objects {that cause the main characters to undertake adventures or fight bad guys}.
[ S
- ‘AOA B7EXT'9] 2fo[@! ffrom A to B, 20| AR EIRICH, T [ = 2t2Zt the golden ring ™} the rabbit’s footS 4=AlGH= MXIATL0(C { }= objectsS
AlsHs Z22 ZAICHEARE0|H, "cause A to ~= ‘A7t ~&H| SICHFER= 520|1, undertake®t fight7t ©& 22 1A E|0] Qlct

o] [What matters] is {what the MacGuffin makes the characters do}.
= 201 [ J= #AEA whatO] 0|11= 2AICHEARE0(T, 201 { }= Sl2At whatO| 0|T1= ZFIel220ICt

Word Review Test

A 1.podium 2. audience 3.specific B 1.for short 2. complete 3. plots 4. hastodowith ¢ 1.d 2.c 3.a 4.d




reapiNe skiLL 01 Process
pp.28~30
The 4 Stages of Grief ulgto| 4ct7

Step 1 stages, refuse, unfortunate, depression, hope
Step 2 traumatic events, accept, reduce, blame, helpless, sadness
Step3  experience grief because of a death or other traumatic events, to accept that the event happened, find

someone to blame, they will never overcome their sadness, accept the loss, move past the grief and get on
with lives

I AIIES 4ol Ciokst Al7|of, HIELS ZHSSICH 0|72 =2 xE= Step 1 zhciztol Al Tho] « 2} CHlof| M HIZI0l YRS TS MA|R,
= = = 2H=EO Y|ELS Z4EIEH o| L5} CHA= 7%
T Qlof FAINQl 70| 2 Aisol sl oplgks I &9 Il AZSE HIEk= S8 K 4] Fer DA AT
=15 - B 22! 2= A—FS0] o LI 20| Lofpts=S 2HotE0|
7 [=1=Ve} 2= | AFAL + = H|ElO C
2PH0|Ck CHEEO| ARIS0| AM0| CHXE i HRIE HIEt] Ul BA7H B
]} . _
L. B = Tl ARS0| 2-st ARA0] thol w27 1S SHelt
SE TIE ARSI, NS 22S Fsit
B A gnis 201 7ich LEE AMo| XH3IS o, ARISO| XF She B Ot 101N, ARISE 11 ARI0| UHitS S 2otS0l
= = AlSH = 3|ats
A eI 22 2700] MR|Z YORSS BOHS017|E AR Sk Zolct, <1 880l Hox7IS Heect
7{10| XIAIME HO|StO ZI=EO Al = x| =
j-_A|'|_ | I_EO_E T|_=—§M1. A|'|:|E|_ j—/\ol j-Eo‘"}" Dlxll_ Stepz E-I___.!,B-gfglql .OEH;‘(,,g EHHE HJ;J% iH—?—Ali
Sekg F0(2{1 Bict. 3Lt ARIS0| 0] B0l 1S 22 HeaH e
JQS O59| 2t #A o B28Moz JeS 0|E 4 Ct CAIES ZS e 1 9|o| ZZER| A0 R HIEIS ZE
Sl
== == = = O = X
B 5 90 Srs 2ol MRS 35 O 23 Ao s st JSE Ul IS AT
- S0 |
L 712 SHSC) AIISS QHEMOZ Al X[ KHAL i EFOIS H|Lt B =d
T }E == |' I'l:lE: En_ﬁi L, |' I |'|_. = |-I_EI_|I_ . :L%%:LAPJOI %01‘7,1’% t,‘:"O'%ODl% 7‘(_‘?_@1:'.
= = — =
°._H:|'. Ol Bﬁl% Zju-_'l— 9}\: Al’%*ﬁ% g |7|' E.LOLT_', I|'2|:— 9—% LH:E", - DS 1 AH0| 25 RHAOA DlR = FEe S=0(3 T
AX|of ZLL TS0 B1S et Bict,
B 2
20| M HAf TACE 0142 HEsHe ARISS HE 150 222 - IS SIY SE1E Bert
sx| 28 - 152 EF Mo} St 515 it
#3 3=51x| R Aot L7k 1SS 22AS Ly|n 259 Aol msscH
T= O
Z3 LOIKIX| 942 72t Pexl= 2act . OEe aEs A7 aws Re Hjam L7
c OS2 FEds S2RE HEH,
H Ot Sls oEnt siitg Zeteich M, ARIS2 AMS wot B 21Ew s o
SQict 1 0}, 152 £82 3=ste 20| Jkssitts %S M - IE2 Y2 oSl
rt st of o =0 HIEIS TESIT AL AlQIZE A OIC 2 cd82 g5 352 4 AtE AS MEECL
=0t E5 o] HAOIA, OS2 H|EE 2=6t1 42 Aot 4+ U= o Lot - o
o = + D52 BBl HolLt afs Hokz YRS H=C
Hig 4 e B2S Se=r)

Step 3

2082 My| - izt Rs1I0IN LI BHS 08510 22
QOkSIA|R.

ANE0| £ EE 1 9Jo| S2HOI A1 H20] BIEIS H3
3 1, 2SS Ul o] HHHOI B HRICE 2O £ SOt
152 1 ARI0| YOS S WOLSOITIZ Bict B £
OIM, ARISS S8t IS Blert 252 B3 Mot F5t
T ERIOA SIS HIC, 22 £ S9F ARISS 150|452
Z7 I=BK| R 7fakn LIk 0K s orEt Sl
S HRBICE AZSS A H0IS0|T BIEHIA HIOfLE A2
Ao WES At=r

of

various [véaorios] Cist

o

grief [gri:f] HIEt  extreme [ikstriim] 2zo| A5

deny [dini] 29l5tct reduce [ridjas] =olct  affect [ofékt] kS jx|ct

blame [bleim] Btsict  unfortunate [Anfs:rtinat] 2345t
short temper st 4o frequently [frizkwontli] XI5

overcome [ouvorkim] 2=s|Ct

traumatic [troma@tik] XAIXOI Z240| 2 denial [dindiol] 2Ol 2%

depression [diprépn] 2

helpless [hélplis] 225t

emotion [iméupn] 2 negative [négotiv] HR=OI
typically [tipikoli] 25, Yutdoz  accuse [okjiiz] TEkSiCE HILHSICH

acceptance [xkséptons] $2f 29I
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4 Trovel pp.32~33

Summary sculpture, fantastic, rainforest, surrealism
Reading Comprehension 1¢  2b 3 it contains the nine pools linked by waterfalls and mountain streams 4c¢ 5¢

LWt BAIRE WEHS o, U] 217 FAE LA 27| B 0l0p|S SHEICL 1 ol 3ol Mizme= Tk mEs 12?
1940\ CHoll =9I= HIPARK= 0I5 0] G0l FAZ0| MR|=alS YRHT A 4 a. 24 ZRRAC) B 2

b. == MUAS| HILARIRS 4
c. 2tA ERIA FHAMZTO| R
d. & 7IAE|Q0] 5t Sl0[of7|

AL A|RS 2 SOt HUAE Baf $Al0| ZAS B4ain Laists
5 2501 Eetazolo] TS XIXKIUCL 1 kA ERpARKS ojZe| £2
24 U2 0|3, AAlo BE Djg ARESS T}
2 1E=IOIM AP EHATOIS O1F3 0lRE?
01 H7| Sah, L= ®AIT AEIOIN AlzlEate] ol2s TETEs AU 2. OIESIE HolAst T 0[5t 52 OfE ASERIE

=
2t 8AIZH SOt HAE RiCH =SS L= &(H)2! & FHAEIR0 0|2= 7Lyt Msl7| Slsh
Z3a|E YUXIRS mapZich A4S MYUA| E0|YOL} HAls HAE steAR b. BHA HRAFAT}O{EH| 1240] A0} 7215104 XIOfFH=IE
HERQICE Lt 9imof W Z2ho| U= ZS ZOf LRl BhA EREA Mo 5015|943
SARCL QA LI OABIRINE Al7[3t ASS A0l 7/diCt, ofn #5L © OISHI= igiash o el Hol sRen Ssel 2
_ 771 9ol
B0 | QIQIC} CIE ZIEL 7|= 1} ATt QIoIC} WoZHE £2 7 5t Mo| & N
| w h CHE RS2 JISoh AT UL 8 | 22 7irfe 2 4] d. 1212 CI2 0[5t 252} Hl@51| s
ot 22 SRR ZZ2ES0| 047 [X7|off QUALCE.
3 2tA ERRAS OfA| 1 012 2| EIRM=TH?

2tA EXtA= et L0 JHZ S0 HEE OFF 7Hel =S Zetel| WEo 7S mmo} Ao| IS0 HZHE ofF o] 22 mEt
‘2'0l2k= 20|17t ULt o L= ?J ZO|IM SX(QIST} B £+E2 JUCH SO 57| 20| 11 01ES 24| EIUCH
MCi= St L= FRI7IE ORI THES, USRS, F22 £50| 25 1 A HIZH (A So{Z B0 J1E XMESH 7127

ZZtS0t OfR2RCE X AF0| BHE A Ato]2| ZAI7L SIALE MUALS| 27| a. 25 b. ol
YT MBI T ZRATOIZ SHZ0IN ThHiet B2 20) oI .. 82 d. &= olol 018

5 0] 20| M=H, C}Z F AH-0| Ol H27?

. HIYATE A ERAS AMSkE O a4 HO| ZRCH

b. HA|Z AE[O|M AZ|EEIKIE HAZ 8A|ZH0] ZZICt
O[Tl MIYAL| TOIUH A FIAE|QE= SNl HIETe=
ARSE|T A

d. W 70| S0iM U2 HESE 0|ofZICt,

[

s

of

incredible [inkrédobal] 2/7] /= nobleman [néubslmon] 7=, A== mystical [mistikal] AH|22 rainforest [reinf5(:)rist] SR

Hon

supporter [sop3irtor] XXX}, 3t surrealism [soriwlizom] Z8t4lze| movement [mavmont] 25 boundary [baundori] Z7
collection [kolékfon] &= Ax=  sculpture [skilptlor] £zt winding [wéindip] F27E8t  gigantic [dzaigentik] AHchst
hike [haik] =& ofsie sict  statue [stetiu:] =zt wander [winder] 7€t sojct  column [kdlem] 71E  pool [pul] 2, o]
stream [strizm] 742 in the heat of the day siwof local [16ukal] &#xiel  blend with ~ef Hojct  fairy [féari] 2%el, Aol
kingdom [kindom] &= /landscape [l&ndskéip] 27, Zx|

2z

42 James was a big supporter of surrealism, an art movement [that tried to break down the boundary between dreams
I —| A T2 BACHEAR

and reality].
= an art movement= surrealism@| SZ0720[Ct [ J= M3AL an art movementS 4=46t= 2 HAICHEAEO|CY
62 He spent several decades and sold his entire art collection to build a sculpture garden [named Las Pozas].

| S
- to build= SX& LEt= 2AE 39| to2HAI0|CE [ J= a sculpture gardeng £AlGH= AR AR0ICE

s Fantastic sculptures, such as a pair of giant hands [reaching up from the soil], appeared here and there.
B ) SRHALT At
- 29| 0= Fantastic sculptures0|1l SAk= appearedolCt. [ = a pair of giant handsZ #Alet= SIXHEALOCE




pp.34~35
R2 Space Tourism <2x0{3

Mapping arc, orbit, afford, worsen
Reading Comprehension 1b 2 c 3 it takes so much fossil fuel to reach space 4c 5a

200140 HiLIA E|E2k= 0|29| &t 0|22l A7) 22X 2F HAHEC=Z 1 ol 22 MEo= 7hzh &Est H2?

O3 77| 2fol 24Tt S E 2iAlotofl XIECE O= 2Ix0| 2F 043”7(}0"II”J. a. SO A b. SF0IY Aie] &
CI2 0|S0| S2 ZUCH TS AIMS0| 2Z0|AQ S712 95 = =25t c. B F 7IXI29 o d. ZAIe| F {7t FH[sHY|
HOfahM, A IS PFHASS JHEst QAL 2 BEREOIM TP S oSt 0197
% 5 5 - a. S70130| YIBIBIX| UTHs %S S21| SUstAd
X I ©X [T OHS O O H|So|CH EHG 24 ATio| 7|9t O
NN 23 2 RE2 23 28 H™o|ct EH & £HO| 7|t 23 b, Sxofa0| ol7te] So| ol S DIFILK| ol

ZEAO1e] FAE Jt= 2 =0

°
H
09
o
—
0
ol
n
-In

il A ofstos, o
. A e 2201 =0l piEe S5 ORHRPI Ei= 20| of 21| SH2XIS Mo Hoh

=
1, 2& HH0| YT ZUCH ofH 2SS Ao LI2= 23 -0}, ofot O52 d. 0|7 2704380| 7Hs5I7 EIU=X] HOIZ7| SlshA

(9]

3 STOJ0| K| 2SS SEIL 4 U Ol SN

X2 2R offse 2= ofsizio| Tf7| Qs UE =2 ARIE, HAIX S0 o0 E2517| 9l LT S 3HA 217t 57| m2olc,
TIQSICL 20| XISt LIS mf e ML 27| = 2|7} 7tM FHEXOI
= Ol' |' - 0” |_I:l°|'—|— % H =1 (=] T | Doﬂ _l |' |'-| (hlinace, i} A *_é |'7|' |§’.‘_ H3P7I$I3HA03}II %%7'@87
RH|7F CH BB T Of342 OFF MOKSH| It 225 FARto| I, ARJAL J2|1 of L1z Eo o Aqis

’ N a. —rx'” | EI‘: STra= Eool'jl
SIRAIS AIR517| BISCH RF04340| MaB17| s, REI= 2T, Al2[Et 4 QU= b. Z0ll That ALY o2 7|
HEARRIQL RS KT BAIS F[8 4 Qle o 22 MATF EQE Zo|ct c. AIS ARt 2oz 718517
. _ d. 7Is¢t M LIEs|

SEO{30]| LHEH 22471 S QUCH SR, 71240] LIS HIMA O 225t AlRtSTto| ° -
JE & oiR7t Qloh £ HmE, 230 T2 s WP Egs 3t @yt 5 0l 2ol MEW, Ch F AHO| Okl H2?
E0M SF0sl2 X7 2uUslE ZJiA|Z 2 ULt Ofxjatoz, 2zxpsie x| H= SFTOHA2 ARISO0| & HEE X FI5 S shEC

A2 ok= AO| 7tsEX|= 220t

=
5 Lo FMIIKIo| AIMES AIRSH| OfICH
2a|= A N SOt 22 048k ST FHEO| ANHES A&t | ofF

a
H=o| Maf7| 2HIZ ASAIZ & QT D7t DZOBS ASEIA| HLBHCIH, b. FF OIURISO| 5 &
o C
=
d. 0ol 2™ & ot 7HK|= 7H=o]ct

of &
be eager to ~stm Alojsict  develop [divélep] 7iesict  vehicle [virikol] & %, 24 46t arc [ark] ofk| 2ol 5, @45  line [lain] 274, M, &
atmosphere [£tmosfior] 7|, 297] outer space £z &z orbital [5rbitl] #l=el orbit [4rbit] 3=  back and forth gict zict st=

o

space walk 2% 2% intensive [inténsiv] 2z =2 zE=el g-force a2l specialized [spéplaizd] ==l S
equipment [ikwipmont] | challenging [t{&lindzip] %=l sl= reliable [rildiobal] A2|8t 4 ¢/= launch vehicle 2|
concern [kensdrn]| a{ wealthy [wélbi] £g9st  afford [of5rd] ~& oigrt et fossil fuel 544 ®iz  worsen [warson] 2tstAl7|CH
generation [dsénaréifon] Ach

72
62 Second is orbital tours, [where the vehicle goes around the earth at least once].

= [ J= orbital toursE £ AYHct= ARAEZ, EAEAL where= and thereZ HIFLO| £ 4 QICH

ms2] Currently, the price is so high (that) only the very wealthy can afford it.

= high TS0l At that0| M2Hel 2592 Tso ~ that ...,.2 U ~alitM -slcHet= olojo]ct,

ned] If we develop space tourism carefully, we can enjoy traveling to outer space for many generations.

= enjoy= SEAE SX0|2 Flok= SAI0ICE 0] 2/0l mind, avoid, finish, quit 52 SAZH SX012 SEAE FBHh

Word Review Test

A 1.column 2. boundary 3.orbit B 1.concerns 2. winding 3. equipment 4.fairy € 1.a 2.d 3.b 4.a
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5 Economy
pp.38~39

Summary cheaper, retailers, online, discourage
Reading Comprehension 1¢  2c 3¢ 4 buysomethingelse 5c

gt o{o] MAS Yol 27| Ll Ee2 Soi=20t M20| WY HoM = 1 0| 22 2ol 25t 271?
Al =Y

S APIR BASIKIEE 1 AEOIAS OlLICH ChAl Juds FoE i o A a. 7|
Jizie] 22 RIS &) s QELIS HABICE 0| A alojat 22t % b. 4282 47 T0f Zie) Xjol
2 22102 o WAl Tst| Tl MBS AlZH=T| 2l Yol 7t % C. SIS AT Ol0l el AhEES thS U
ojn|sict. A2YUS ANARISOIZ SThst LR EIRCH F30| 3t G 40l d ATl %R MBI bl SR 2
EQ| 0|=20150| £RAUZ SHEUCH= RS SHa{HCt 2 0| 20l LEH, Be AIRIS0| 22US Sl= 0|RE?
a. JE2 OfF miLt FEE 4 U7| 2o

ANNSOIHE QUAZDE, ADIER cigo] ARYUS B O AU b Are otio| RIS S0t
ALHSS 23101 7742 S101517| s O 0|4 Zlo2 Zr TRt gict ojF| 1SS o SES moR 2im Al| RO
APS L0l Qls SOloflE I & 4 QIch, 1SS 2alo|A of M 7122 Sixt 4. 1SS mM s me7| ool
DR AES Liet I ADIER AQAISO| CHE ZAA, B2 01S0] OFF &2
HOMIRIE 37| 9ol MBS ARRSHHSS QUML) OIS SOf, TX| 2.5mMEe 0 o (N Bofel BEISS i HEs 227

) ’ a. M22 YAo|E &S Al=lsta

HOrS QI5 REIVIZO| ADIEE ASKISS 2210102 thAl 28t Zio|ct b, £ U S 71242 K@k ol

DA AziE AW T2, ANUAISS ARUS BAl 94T Hofsich we o AFES B4 B mofel
ADIURISO| Y 7174 M8 BAS XOt7| AIKICH CHAl s, 152 ofu d ATYUE O Gl Sifekn 2t
23101 7}HOIEX| M3 B NS AULSICE UAOIES JITI O 2 AWNSS T2 4 omapl yHoR 22 HAS N O, oY ASS
HES JHLSHC) Olot ALHSO| Raj0loz DoiylE AW, 152 Qmalol 2012 Hl2p=7}?
AROR D22 Hi4S MENSH 4 QT 121H 2S0| AHAS| SAS Thx[ AE 2 IS2 HEMSO| MHS WS 1) T2 SoUIE Poish|
O CHE AE PONEIX| RECH DKo R A% AAXIS2 TEHO| 02 MH|AZ & ufe
AYMSE B0y =¥ J0|ch EM2 4T AYS US0 HezM, OS2 5 0| 20| M2W, IS & AKAIO| Oful 227
A2 ZYU 4 Q|2 BjA5kT Ct a. 40MIE0| 0]20150] ARUS 3

o

showrooming [{6uri(:)min] HMZS 2=zl ool Xtul5| AT &, Tl 71240| =t X2ist 2af0l

Hon

ATES 0|83 Y
challenge [ti€lind3] x|, AlgicH, = retailer [rizteilor] AD§XE Anjat Tecent [riont] ziz2ze] unfortunately [AnfS:rtonatli] SZAZAE, SsIHE
survey [sorvéi] (M%) zAb  admit [edmit] egsict  tiny [tdini] o} 22 saving [séivin] Mot competition [kampotijn] Zx

match [metf] ZsiCH thSsiA Stsct  strategy [striétodsi] M2 shipping [fipin] 24(8) high-quality n==le| customer [kistomor] 12

reduce [ridjis] Zo|ct

72
138 It means going into a store [to test out a product before buying it cheaper online].

= [ = S48 UEi= toRBAMTE "~op7| sl 2k= 2jn|S LIEHACT,

52 A recent study found [that 40% of Americans have showroomed].

= [ J= B&AL that0] 0|T1= HAERE SAtfound2l 540 A2S Bict,

62 Unfortunately for retailers, showrooming has become even easier thanks to smartphones.

= even much, still, far, a lot2t 27| Hlngs Zdxck= Y2 W o ~2lEHA) 2l 2JolE LIEHHCE



pp.40~41
R2 Crowdfunding =ztecngy

Mapping posts, backers, rewards
Reading Comprehension 1d 2 list the rewards that will be given to backers 3b 4b,c 5c¢

0| MIAIS HEE WHZ0 CiEt S8 oo|Coit QUCHT JhEeH ek Y 1 ol el ks Rewk
Shhl0| BXF MRS 2T A CIE, PAS SHOIL EXKISZRE £ WY a. SEI SXIS0 £2 vz M2 WS W
LRI} UG ZOIC 2Lt OfH| A2 DZ(LHE)S TS| Fof 22| ofolciof b SEFEHT BAOISE TANISE SefEesd =8
S 23 DHSO 260 2 4 Uk DAL T50| IS SOFRICHH SHAlo| 2 A e e o
S0 50| £8 43S B 4 ok TéecHoln gal ol w0 My e T R AR &
SO0I LSOIRI= YS viva 2l d. Hoiel AEiEE 280l mEAES Het £2 9
FRLEHL0M, gAle ghlo] maMES o) HMOI0) AAStR Ehio] FIoH SSAPSHSE ASstn 2l
OiLt 42 £ TR SeXlol tiEt SES FBiC, 12 3 GAS SAXISOIA 5 2 280l K2R, Yo IS A SEE Yet $
OfX HAIS PIIBIC Of 3 42 O 2 BAS PEC), gilo| gilol 280 =g ofl 12 RS 340t 3717
5i2l, 2E 7|Zo| melct, TX| PO, ofH £ FaHXIX| t=Ch H= SEAISOPI 308 U8 S7isior 8.
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ez} olo = 72 Zlo 2 gH=X|= ajAm™E TS 2 Ol CsS [ T2 Al

7t Aot B2 E0|LEAIZFS HRE SH=XIE AT TFel 4= QUC) ot o =2 b. SN Zoko|Lf AlZi0] S HS & ot

ES2 HX| S EXEERH =2 SX7| Yot 7ime 4= QUot o F4l0] F21RE . EES0| £2 Wy ol #3 ZRMES AA|g 4 UCt

HYS dh= IENMES SHGID HCHH, O50] 2E RBHX| 2157 | ffs B 1 d. ARISS madES X[X[5h7| Fof LS MAlS| Sstct,

wn
r
ro

2H (A)0ll S0z EHO I MHS %7
E550| QlEloz £2 Fap shEct
chleiSol Hot 2 2ol Lzt
joIxI0] ARISO| SAILE SXH} 2l0] HABIES Srt

dut Z22XESE ES617| fIgt YHIE =2Ct

(0]

oo ow

ot

of

invention [invénpn] 2(Z) investor [invéstor] Extxt directly [diréktli] 2 pledge [pleds] &3ict WAlsICE 244 process [prdses] 2

o

post [poust] AAstct  public [pAblik] chzel, &ohel reward [riwsrd] =4 fund [fand] 712 midrange [midreinds] &7tge
private [praivet] 749le] thanks to ~ =20 risk [risk] ¢/& underestimate [Aindoréstoméit] atAmytsict  fake [feik] 7mt; 7imtel
back [bxk] ¢sict  reliable [rildiobol] 22 otst  thrive [Oraiv] #Afsict loan [loun] gxt

7=
52 You can let them pledge money to your project if they like it.
= AISISAL et Met + SR + SHZAL(SAIRE),0 FENS FlotH "~} -51A| FChel on|S LIEFHC)
ezt If you want to back a crowdfunded project, research the company first [to check {if they are reliable}].
= [ J= 282 LE= toR™ARR ‘~6b7| flse] 2|ololH, { }= checkl SX{0{Q! ZHHCIR222 2 0|9 if= '~QIX| O{EX[2| 2jnjo|ct.

[20#) When the project succeeds, you can get something cool as well as help creative people thrive without loans or investors.

- ENSSA helpe SEAEZ (toHSAIRIELS FI6I22 thriveZt LIgtD ‘~7t ---5He 28 BChel S22 LEfHCE

Word Review Test
A 1.invention 2.fund 3.admit B 1. pledged 2. underestimate 3.survey 4.backed ¢ 1.b 2.a 3.b 4.d
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6 Mys II-e ry pp.44~45

Mapping surround, freeze, friction, slide
Reading Comprehension 1b  2d 3a 4rocks, ice, move, Arctic 5b

PI0IASE! Bol0f2Ln B2i O0IE B4 b2 00E! S4B AR SICL 1 ol el imem kg e 27
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bed [bed] vt  peculiar [pikjadjer] 7jojst valley [v&li] A= floor [florr] vt=t  direction [dirékion] #8F end up in z= ~=2 BLict
trail [treil] x=, & clay [klei] ®E, &% theory [0iori] 0|2 brick [brik] &= slippery [slipori] oj712f2 soak into ~of AnSct
shallow [{£lou] &2 pool [pul] E£2=0|, 2

footprint [fatprint] wxi= freeze [friz] ok Yz|ct  friction [frikin] opat
lab [lzb] @i714L Al&iAl= laboratory) Observe [obzsirv] 2tsict  for good exis), @5

2g

38 No one has seen them moving, but the rocks end up in a new place, [leaving long trails in the clay behind them].

= "XIZISAHsee) + =XI0] + JRNZALZF 20{ ‘~7} --5h= S B2l QoIS LB [ = SAISAS UEis XHEA-Z0ICE

roz] Mud allows the rocks to slide more easily, but what pushes them?
= "allow + ZX0{ + toR2HALIF M0 "~} -5 Si=SICH el jn|S LIERALCE,
e#) One NASA scientist formed a theory [based on {how ice helps large rocks move in the Arctic}].
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R2 The Mary Celeste ozl 22jAES

Mapping Pirates, Fanciful, seaquake, alcohol
Reading Comprehension 1c¢ 2a 3c¢ 4d 5d
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5 WIZH(A) S0zt EHOR THa BAEt 127
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. 23 ZIHARRI3! Al Obelx] 2EC
Hgxoz g3t
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23 Z2|X| ¢4= Aolct

of #
float [flout] mcict  crew [kru:] 29, M2 on board aA1st  sail [seil] &fshsict, Lozttt barrel [baral] (2x- 2402 S i) £
raw [ro:] 7K=stx| &2, gziel  hurriedly [haridli] 225 cut free (Zof) ~2 X927 sict  axe [xks] =7 attack [otek] Zzsict

2 ooy|ct  cargo [kargou] st2  fanciful [fensifol] Atatel 7kme|  exist [igzist] ZxHstC
seaquake [sizkweik] aiZI(E) waterspout [witorspaut] 22 reasonable [rizonobl] #2191 leak out Aict hold [hould] (uf - HIgH7|2]) At

(h

pirate [pairot] 31= rebel [rebsl] izt

fume [fjum] ¢17] explode [iksploud] Z4tsict escape [iskéip] =&sict logic [lddsik] =2] evidence [évidons] 5

Sk
2] There is only a ship found floating on the ocean with no living crew on board.

= "with + ZAH+ 2A, FEle] EAEC R, '~ 7t -+ Bt {22t s AfBHCt,

mo#) A lifeboat was missing, [hurriedly cut free with axes].

- [ 1= SA AEES LEHE IAZAIFZO 2, cut 0l being0| AfZFz|ACt

A 1.raw 2. float 3. pirate B 1. evidence 2. friction 3.cargo 4.lab C 1.b 2.a 3.c 4. b




READING SKILL 02 Compare & Contrast

pp.50~52

Glaciers vs. Icebergs st

Step 1 distinguish, break off, form, enormous
Step 2 distinctions, weight, Chunks, polar regions, melt, long, edges

Step3 important distinctions between icebergs and glaciers, the snowfall doesn’t melt, chunks of the glacier
break off, float in the water until they melt, smaller pieces from glaciers’ edges
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sink [sipk] zl=sict iceberg [disborrg] wiat  glacier [gléifor] wat  form [forrm] SAAIZICH SA=ct  distinguish [distingwi§] Psict

vastly [vastli] thets], A&t snowfall [snoufdl] 24 melt [melt] sct pack [pzk] (& - = So|) 20{x|ct, &S Talct  century [séntfuri] Al7((100)
body [badi] Yojal, 22, 2 break off ®ojx Lizict  mountain valley A=m7|  polar region =xjgt  drift [drift] mchjct

current [k&ront] =&, si%; $ixfje] enormous [indrmes] Achst  length [lepk0] Zo|l massive [masiv] st sea level sjst

hardly ever Zx& ~ ¢ict  merely [miorli] @& chunk [tfapk] Zoja| edge [eds] 71exkal, &

15
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/ Curiosity

Mapping better, climate, roles, replaced
Reading Comprehension 1c¢ 2a 3b 4a 5a
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* pollinate(~0fl s~25iCt): OflAf Ct I |t 4. S 9l iz KAl BkSslof Bict
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* pollinator (2 OHX|): 22 S+2A7le S
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mosquito [meskitou] 27| whine [Awain] ZzAHz|ct suck [sak] #ct itchy [itfi] 7124  disease [diziz] =

o

collapse [kol&ps] 2nlsict, RUx|ct  adapt [odapt] =2A17Ict larva [ldrve] o2l R5(pol. larvae) hatch [hati] S3sfsict chain reaction ¢ g2
apparently [op&rontli] 2#s| midge [mid3] =2 2% replace [ripléis] thxslct / rotten [rdtn] 42 consequence [kansokweéns] Zot
benefit [bénafit] o|®, 58 eliminate [ilimonéit] 745t

2z

38 If mosquitoes disappeared forever, that would make us very happy.

= T+ 01+ SA| AHY ~, F0{+ ZSAI| WA+ SAEY ... 2 7F8E 1A T2, Sixf Alddo] it E= el VHsd0] 22 2= Hoie [ 20t

& The loss of mosquitoes would create a chain reaction through the environment [that would harm the entire world,
[ |

including humans].

- [ J= M3liAt a chain reactionS 4Al6H= 24 AICHHAREO|CE



pp.56~57

R2 Earth’s Rotation xizel xtx

Mapping spinning, six months, equator, massive
Reading Comprehension 1d 2c¢ 3a 4 keeps more of the oceans’ waters around the equator 5 ¢
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of 3

spin [spin] &&sict  axis [€ksis] (F4) £ equator [ikwéitor] Mz planet [plenit] &4 cycle [sdikl] &stsict
unbearable [Anbéorebol] &2 4 gt=  affect [ofékt] ~ofl W3S OjxIck  ecosystem [ikousistom] AelA| rotate [réuteit] 3|

st
gravity [gréveti] 2 pole [poul] (xIze) 2 dramatically [drométikeli] 2xoz landmass [I€ndmas] st EX|, H2
continent [kdntonont] & supercontinent [sjizporkdntonant] HcH CHZ, ECHE(BAFE) mMmassive [masiv] Hoyst

adaptable [od&ptobal] ®Sst 4 Ql=  resist [rizist] XMatstct  extreme [ikstriim] 25to|

2g

38 The truth is that our planet would change completely.

- T} that0] 0|11 BIAFE0| SAt iso] H0f A sif '~2l 0@ shAfsict

7] Countries [close to the equator] would experience six months of unbearable heat and six months of freezing cold
[ S
(if Earth stopped spinning).
- [ J= @8AFE, CountriesE 4Al5tH if Earth stopped spinning0| A2FE 7FYE 14 220(7| 20l "=SAte] 1A + SAMIE,2! would experience
7F ML,

Word Review Test

A 1. ecosystem 2.larva 3.itchy B 1.apparently 2.rotated 3.landmass 4.adapt ¢ 1.d 2.a 3.a 4.b
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8 Biology

R1 Bones t

pp.60~61

Mapping organs, dense, lightweight, harden
Reading Comprehension 1b 2c¢ 3d 4d 5b
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a o oow

of

combine [kombdin] Zgsict skeleton [skélotn] 22, wirf complete [kompli:t] 23t rigid [ridsid] cretst  vital [véitl] Z23 Men w2z

o

organ [5rgon] &7|, 712 T1ib[rib] 5=, zt| skull [skal] S742 ensure [infior] 2xfsict  be comprised of ~z 7A=|of ict
dense [dens] @=st&=2 cortical bone mzz(rEg) cancellous bone sizx(gmed) lightweight [laitweit] 72 blood vessel simt
bendable [béndobl] 7=l 4 9l=  suffer [safor] Zict gstct  heal [hil] Wt xigsict mend [mend] 312stct, Wt collagen [kdladzon] Zatai

harden [hd:rdn] whesix|ct

T2
i@ The 206 bones in the human body combine to form a skeleton.

- to form2 ZuE UEIE SAE 8719| toRZA0|Ct

98 The outer part, [which is very strong and dense], is the cortical bone.

- [ J= MIEZ, whichE The outer partZ £ MHGH= Al&X 20| ZAICHZALO|CY,

] Cancellous bone makes it easier for people to move around, enables blood vessels to flow through the bones, and
lets bones be bendable, so they do not break easily.

= SAt makes, enables, lets7t Tl&AF andof| 2Jsh EE HZEIRUCE it 7H=%010] 12, to move around”t ZI=X0{0]C,, "enable + =01 + toR A L=
‘~o7t -84 QU BHEF S| 2J0(0|H, MletAHSAL + SE0 + SAFEE2 It 5| St ks S0l



pp.62~63
R2 Parasites 714 s=

Mapping pass, coughed, climb, swim
Reading Comprehension 1b  2snails,ants 3c 4a 5¢d
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oln, IS2 MAHsRIE 2550 L2 M3l ol olUXIZ ARBSICE 7S o /I8 SEE of Febh
= == L = d. 7|M MES | OS9| £ZE =27}
SEX0IC. 2E CHE YA ECH B2 714 ME50] 25 &0t ot 3 2 - =TE
EECHO T2 718 ME THE)7E ACH 2 HEES F B ATERAWNR
iR ol 714 M2 159 MJIS M2 45 oo mufof Bich. J2{7] 32BN 2 S ol %2?
floh, IS2 B2 W& F7|2t S KFE AHEIC. ol S0, Y &52 29/ 2ol a. 2E 71 M2SS 50| ME F7| S0t M| el 452
- — - - P |
ATt 259 Y2 40| Sk &7 L2t SHO|of|A| HEICE 20| F3tE1 M7IS2 H=
- a flo = N 3 852 159 4701 0158 & &C
ROl 2 0ISEIT), S0 J|HE Sl0f IS Ha e Uik Apigo > IRESRISA SR SRS EL
— = = = - J— = = X%an_:LEzT%SggooggiA;ETME
AF5{ EX0| Ol= CHIHQ|O| RIS M| ClH X}5 X0 o sl|o1x < =
AH77| oo u60| M Eool—l o= —||_|:|' =T ©ooc B 7HD|—| l"'—lE 0‘"|:|X4 d. JHols AZ£S o= 22 Zofsict
7t O24g 2T ol Jeyy|= Satb BHECH Btk 1 Eo| AoH Ha|H 1
A5 B22 A0| 7t02 §|AUX 7} HIX|Z|Z DH=CH 4 HIZH(A)et (B)oil S01Z 20| HIEA| ®X|OT 227?
_ ® B)
Fele 28 71 4=0| R0 si220 LS st TECI Y2ttt a s - a%el 5%
J2Lt 1SS 2217t 7|5 HIZFK| Q=L 20| 7|M 0| 20| MR SFE b. 7|7 - 30| B
ot LK 0IR0ICE Bt £F Qo 4T S 1M M0 o aFE &Y C.&F e 3% B7I7
£ oM, I8k BF =2 oItk 718 MES S22, £F8 19| s¥e=2 d.sg - el 5%
HZish2t, 5 0 20| m=2H, Chg & ARRI 227
a. TISE0| 7|4 MBS 252 E 0|2 i o Alnfsict
b. 714§ M2RC 2% 50| of BiCt,
c. H¥ EES 40| 7ol ¥g Pert
d. 714 MSL th7) 477+ S| US| e=ch
of &

organism [5gonizom| MEx|, 97|14 creature [kritjor] M2 parasite [parosait] 7|4 4= host [houst] £F resist [rizist] Xatsict
attempt [otémpt] Al get rid of ~2 glofct parasitism [p&rosditizom] 7|4 (A2  species [spifi()z] (=9l &

intermediate [intermi:diot] #7te| lancet fluke &% 2% liver [liver] 2t poop [pup] = snail [sneil] 20| lung [lap] =
cough [ko:f] 7|2lsict  spit [spit] Z blade [bleid] 2

7e

& Parasites find it easy to get food from their hosts and use their energy to resist the hosts’ attempts to get rid of them.

- "SAHfind) + 2X0{+ £0{,0] 58A FTEO2 7[=H0] it0] ZISE0 to get 0[51= CHAIGHH MY to resiste 2XS LIEH = AN 299 toRHAL0| 1,
to get rid of= the hosts” attemptsZ =Alot= FYSAE H2| toRHALO|C

2] Some flukes swim to the ant’s brain and make it climb up to the top of a blade of grass.

= "Al S Al make) + ZX{0] + SAIRY, 1222 '~& ol SICHEISCH 2l= 2o|o|Ch it2 20l 2A=E the antS 7f2/ZICk

Word Review Test

A 1.organism 2.vital 3. attempt B 1.dense 2.rigid 3.getridof 4. mend C 1.b 2.2 3.a 4.d
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9@ Fun & Games

Mapping seven, field, defensive, match
Reading Comprehension 1¢  2d 3a 4c 5 eliminating, capturing

= 2jo| HAISO| £WE T2l M2 ISEIC, 1SS 0| HAS U 1 ol 22 Soi 23 2eby
MO} ®mja] Az} SaCh UHS MRE Sl ZeibA, A2 LXI2n a. 97 12Me| T A| Bt
SHo|E BRIC)? 23 SMS0| OF ZXMel AR st E 4 U, b. 871240] TVEfEt Az ofed o
0l Z7l= |70 S2ln, 7S BB H2is| st Y=ol Lot o 7lHel St 7
0 0I22 =2 o= YU=0| 0| ‘R7/'9} HES Eafis ‘ZHi oA HIZEIC, O BEES nims o A=
RIS TIRel 0% MUlel ZHOICk 2| YT Bom PuE £ go| Lo e e RIS
ERBIC, 1SS 40x100/Ele] 270N Z7IS Bik 27 IRole 2B el o o morme
E|I©S

—
o), & =22 TSOT YHo| U, 24 Hofl S 20| ot 2t
=

. . ol 7t
of 0j2] RHSOIE £FOIS JHXIT ARSI, 77| B0l £0IS of fes e 3 BAS FHE ol isheoR?
Ixlelof ok, 8t 27l 3ENfa] | Mol slecz TNt S AR pixjolpt > TAREIE TR NREe2l
S0| 27I01A SABICL TS AT EIO| NS MOUILL CIE EolM L e Mg DT T SES BSEN
c. SAFXIQI 27 12H 771 O A= M
SRABORM BAZE0M OZIG, =010 H2 4= 2R d. 7124 Z7I0IAe HeIxiel ZHSE 0lop s
Ustoli= 42 7ol 9710 Ho| URIR, 0] AEXE ZOISHe Z2 X U 4 ooiiol 380 st MO 2K 2 #7
ARISEI0] OILICH 24 0182, S7202 M2 S92, JHUc DECR IBCL 4 woe pof 7ol calast 9k
TA RIS, 7191 S AIRI0| 7 AT SIS EXHBICH CH201 G220l 1M b, g07kel obt 7] ol gk
S 25 TNSS ARIE s, IS ofiRol X W ST FIIS §E o A4EE 2] S0l SE0IS BE 4 o
oo Mztsial d. 8 2l2EE 38 EOt AR,
5 E2 972 3 ALES 0@ ol7k=1?
EIS JKY S M HEAPIZILE HITHES] JLS oS
o= 8t 22cE oj2in
of 3l

scream [skrim] ¢x|ct battle cry (®mejoide) g4 snowball fight Mg competition [kampatifn] 2%, Algt

encourage [inkérids] =zfsich Zedsict  combination [kambenéin] =g dodgeball [dadsbol] m7  capture the flag 2 wot|
shelter [i¢ltor] tim4, #6f defensive [difénsiv] goje] forbid [ferbid] 2xisict opposing [spduzin] CHElsts, Alchetol

eliminate [ilimonéit] m7sict official [ofiol] ARl tournament [tdornomont] EWHE  corporate [kdrparit] 7|EAbe]
sponsorship [spanserfip] ¢, g&t friendly [fréndli] zI=st ziMe| think of A as B AZ Bz Mztsict

2e

22 Both sides rush towards each other, [screaming battle cries and throwing...snowballs]?
- screaming Olsk= SAl S22 L= SAZ0ICE
521 The name comes from the Japanese word for snow, yuki, and gassen, [which means battle].

[ L)

- the Japanese word for snow®} yuki= 524 B70|12 which 015k MaliAt gassenS AYst= 324 ZACHHAIRO|CY

2] The field contains seven shelters, or defensive walls [made of snow], and one flag for each side.
| S

- [ ]= defensive wallsE $AleH= TR ATLO|CE,

52 There are thousands of yukigassen teams in Japan, but it isn’t only Japanese people who love this sport.

= Titis ~ thattwho) ..., 4% 71222 "-ok= A2 HIZ ~0|Cf2f1 siAIBHTL



pp.68~69

R2 Cricket Fighting w2t mg

Summary arena, banned, captured, aggressive
Reading Comprehension 1¢ 2b 3a,d 4d 5c

2| Foll= OHRIS FERI0IS SIet SR WOl Uk i 10| AXjet MY 1 Bl ofEA FHE AH=IN?
=3 MEQ| =) MlE— 7ICt 12 Egist ZajAEl 7| xto| Qo :LEg| a. Oi2{20| F{Eat0|7t B %S AMsHEaln 2oi=o= M
EAES ==t OS2 H5einlS0| S&26t0
MELH X5 Afolof| f:?_l Ziako|7t S0 SHX|H, HE2t0IE2 M7| AI"*E._HZP.
AR Of2t, HEF2tISE2 A2l CHXIX| =0t ME2 12 E X S0t 0|R0X|T,

=

2 MKl ®z Y=Einse b. 2oz TS Ep{elozioz N

c. F7te| HFatn| MEE EHESEM

d. #52tal EzfolURtel QIEIRE Qlgaio=M

TxK= BiM SOtA7iLt 288 27 PisEatnlolc 2 2EHE X0l He 22k
a. FF2l0| WSS wasst Al
HEF2H0| M2 £ H ol Tl & AR 7E2| SRttt XMB0l, XS0l b. FISE2tn| Mol HAb
HEF2t0ISS MAIZICL LB, & EZX0Me MUIEE 0| F0IE &717] AR c. &= 22l0lM Tt Mael E2d
SiCH SHX|DH E=Eat0| MRS 1960UCHRl 1970U M £20| 25i8iH 7|7H SOt d. F52to] M=Z0] 19602t 19700l SXIE 0lF
ol SXI=IAT, Az #1710]l XM UACE ZIZ0ll, H20IS2 25 =2 FAQ 3 FE2to| Mol chEt MHo= 82 27
ez M P=2t0| MSE RHet7ASHC) a. E2lo|LisSe FFalnlE B a | 517] Sloll WS AL
sict,
Ch3loll &5 HEF2I0IE 7HKl= A2 01242 OICh FAL #5Fato|= ool A2 b. WSS S5 FEain|SS Chx|A Sk
ZaE £ T, AREHOME oF ot sRE2 159 wo EYSt 18 c. IS AP & YEMX| 742 Sazict
MXlot, ZE|E HF2A0ISS A HFatn] AN Eo RoXSE 24242 d. OFAOlIM X[2t PIEEatnlSato| MS 4 Qict
FE20IE Ero| Hotzlof ERtetHM XSS oAl HET| ol TR} 4 as =z wey| Mof S Tl S0iK|=
2/ HO|AERt 22 7|EXI SAlg TRl olRE 2AeI7f?
a. 742 Mol 317 sl
E0|HE2 © 1002 A= 2SS0 0HY 024 AlZHS AH|ot 8 S2iE b. Tzi0] ZIRtS B2 =] Sl
#rh 47| g, 252 2To| HEF2olSoi S8 thEnt ojuE oY =2 C. 70| WA |2 3H 57| sk
2 oixL, JRSS SANoR UET| 26l YRS 7olof| ==Lt 252 2F d. 0%g 3z=o= 057 2k
T2t0] 010|3 Ef0|&S 22 Jstict 5 i Z 0] Z0IM SHEIX| e He?
a. FF2l0|S BEsls W
b. AIS0| SA PIE2IOIE A 4 QU= HA
c. FFal0l MES 2 2 2l
d. M FE2I0|S0| B St e
ol &l

cricket [krikit] 7seato] ancient [éinfont] mrhel tradition [tradifon] & arena [orimo] (&) Z7|% poke [pouk] WZ2Ct Straw [stror] i, &
divider [divdider] ztato] opponent [spounant] Aty loser [lazor] mxt dynasty [déinssti] 2% common [kdmen] EEo| Hest

pastime [p&staim] #o] ban [ben] Zxlstct  Cultural Revolution Zatsi  be in danger of ~t 9glofl st 2/t die out xix= 2t
heritage [héritids] 94t capture [képtjor] Zalsict breed [briid] AKg3lct  separate [séparot] whel ==l tofu [toufu] F5

liver paste z|t{ Ho|AE insect [insekt] =& match [met{] AIg, @7

treat [trizt] cha aggressive [agrésiv] Zz=0l

2g

22 Fighting crickets can only be captured in the wild, not bred.
= fcan(=S Al +be +p.p., HEHS| S+SEf 2H0[H, ‘~& 2= QICH2t sHAISICE not bred= cannot be bredofiAl canit be7t A&FE Zdo|ct.
62 Trainers spend hours each day and hundreds of dollars on insects [that only live a hundred days].

X 27 PAHEARE
= hours each day2t hundreds of dollars= 25 &AF spend2| SX0{0|H, "spend + A|ZHE) +on ~,2 ‘~0i| A|ZHE)S MACfet= 2Jo|o|cf.

Word Review Test

A 1. heritage 2.arena 3.shelter B 1.opposing 2. cricket 3. died out 4. tradition € 1.c 2.a 3.b 4.b

21



pp.72~74

reapineskiLL 03 Exam ples

onboard, camera, delivery, measurements, personal

Step 1

Step 2 everyday, mounted, supplies, perform, run

Step3  becoming more common in everyday life, with cameras mounted on them, transport supplies to disaster

areas, perform useful jobs in hard-to-reach or dangerous places, perform a variety of services in your home
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surveillance [sorvéilons] ZA|

military [militéri] ZcH; ZAREQ!

onboard [dnbord] aMsted  vehicle [visikal] ojs4ct

drone [droun] 29I H[3t7|

Ztsict

track [traek]
utility [jutiloti] 984, ctgzo

fct

5|

mdnitor] ZAl

monitor [

observe [obzdirv] AT

S K|

3
=}

ot

wilderness [wildarnis]

fct

5
celebrity [solébrati] S0l

mount [maunt] Efx

supply [sepldi] (pl.) 22 disaster [diz&stor] xHct

delivery [dilivari] St

radioactive [réidiousktiv] HAKsQ]

3

=
=

measurement [mézormont]

22
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10 Climate
pp.76~77

Summary states, Storms, roofs, towns
Reading Comprehension 1b 2a 3d 4c 5underground bunker, safety

70| DIEAFOIIA, FAIS ERAIZHAIE 20| SREICHE HS YT UREIR 1 “Euol= er'e) Fols 2K
SAI0] SIABHS BiSt 20|, Jlfis A SAI0IR4H), IR EH0lE Yalztn a. Abi2 87| Yof2lg piet et
22l x|%9] s7t2u(0 Ut EHlolEE 00N FHCteth 2Ro|ct sHofct, of b. 2 ZHIOI== SR 0l=el 2 X1
1000749] 0] Trafxiel ZZo| LIS WAL HIZ 0lZ0l BE 57t Ello|=S ¢ SHOL=E Fioh S £I5 Xn S 7 O &2
20 gexlE, EHOIE %als B o B EHplES zm Qe zlog O EFVIRHEMEASKEANAAE IS

FHolct, 2 off TXM= 1Tkt 3TN ‘@X 0| OPHAPE AF5H=7}?

a. SAIE2| st deS T H2A|7|7| KH
= =1 OH ot o|— SO - pal=13 t
22 A0l ZHOI= Halh BAZ Ofrjd] Y=X|, 2 20| FER I b. OHA7} EHO|ES THECH= 22 SXISO|A| SHAIA7|7]

2 EY0|=E 741 U=X|0fl chsl S2lot= A2 OfL|Ch SHX|ZH MEXQI !X |l= e
st O 72 MEHE|RICE BIAtA, @Z 250t ZHRIA HIHjAT FES TIZXI2E= c. EY[0|=7} HofLt Tha|=QIX| EXFS0l|A A7 |AI717]| sk
X|g2 5ol 7+ 22 EU0|=E Z=, 27t EW|0|=Tt 71 ISt A|7|0|Ct, d. EXISZ sloi2 o ¥sl= S0|E7 L slain

oo B = MG APRIO| RZASS 247 QIC} wo| IS WSt
0| X|¥92 EHI0|=E M5tz |0l O aZQ! == Z@1 QCt Ho| 0f HHEs 3 oCiZof 2™, EH[O|S7} LIEH (o MESH RS 0fC|
OE0l= ofF H{UZICt o RET ARG Z7|7F HIAZCHe| X &5t 37|18 ol7f?
o o, IS EW0|=7t LIEHLEZ [of] 2t St SHHo|c}, a THS ZAZ51T 22 Afat

- _ - 74El ol x|

EUI0|E H2(0f A= ARISS AARO| OI0iZ S7| 93] St o FXIS - B et IR 7IE S
=lsHot 3iCt R I=EL2 [ ztadsH X|2 o X|HX|T o _0.| o EtEts| D™ EIC c. L2tel SHll /U= Txet XA

= k<) =0 S = = =
Hslot Bick. ZSE of 2248t Rgo= Rojx/m, 180l 7|x0] of EHEtS| BYECH ket Aot crfo e e &
TP YSS EF Z2 IS X5, 5 EHOIEIL S Of AR} S i3
SRz 4 e Kot HIAE 2n QUCh DISSS BB0| @7 S uf ARIS0lH 4 IERS B0l e S0k
Z1s7| 5t EHO|E MORIS B m 9/t OfofE Bty E2Al9l Fo) o] 8. 53 thiS Tloras adsi= o

- A FHREA = A 0Jof;

SHSES JHXID YK Tl 2T 2x0| 74K| R3S HO[CH b SRAVE OIS TS B = A=A

c. EU|0|= H2lofM A5 HE= U

of 3

wizard [wizerd] opgiAt  recall [rik3:] slatsict  come from ~ Z4lojct  region [rixdzon] X2 tornado [tornéidou] EWolz  alley [£li] 2=

destructive [distriktiv] mtzi=ol tear up mE|xIct, alw) &t state [steit] & traditional [tradifensl] FExQI  location [loukéipn] 9|
frequent [frizkwont] &2, w5t ideal [aidiwl] old=9l condition [kendion] =74  form [form] S5t

flat [flet] ™5t moist [moist] &3t environment [invaioronment] 22 appear [spior] LIEILICH precaution [prik3:on] ol Z=x|
fasten [f&sn] ofct, m&AlZIcE  securely [sikjaorli] ttets|  foundation [faundéipn] (zi29)) 7%, B storm cellar 2= thm|g x|t
underground [Andorgraund] xlste] bunker [bAnkor] &7, 24l dweller [dwélor] 74Z8! safety [séifti] 9 warn [worn] Zmsict

feature [fi:tfor] £% make it to ~of o|l2chzatsch

2z

621 Not everybody agrees about [where Tornado Alley really is], or [if it really gets the most tornadoes].

b
= not everybodyx{2! not o T2, BFE UEH=E 20| 28 0= T LTIt~ OfCH 7} OfLet ‘B& R R F ~21 A2 OfLCh'E LEHHCE
TIX[AF about2 271C] [ ]2 S=X01= Fsi A=d|, olmfel if= ~IX| ofEx|' 2l elojo|ct.

is#] Some houses also have a storm cellar — [an underground bunker {(which(that)) dwellers can run to for safety
——— T/ )

when tornadoes come}].

- A=) ol5tel [ J= a storm cellare] 52401720, { }= an underground bunker2 4-AlGHs 2% AHEAEZ to2Q] 20121 which E&= thatO|

2H0i| H=f|of UCE

23
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Mapping circulating, bigger, fast, more
Reading Comprehension 1c¢ 2a 3d 4b 5d

T AIOIAM, g42 tiMEoI2l e 22l HilT
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HEAIIA 7He A2t ZS0IRACE

m

AR Xl sf2lAIQlnt 22 &8ks
o] x| sAo| 1 Qtol| T Sofzt & Q)
400km7t 'EA| 2ot 7HY 2k A2
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ol a7t A2 Bt

J1730| Moi= 400, ootz W o
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oA 1 o ot 72| Z30] J3A Q2U=F XIEE o+ UST? JW, X720l
U HEEL ES2 IN0| =X -.—IE X mf 2 LIRS S=tt 2o, SX17t
t

oM ZS0] X AL 7XAIE 4 ACL =M, 2 ZS2 20t A2 UE 2SS
Eaot=dl, IR oluX7t :LA% HOICH DiX|2ez, tiXE2 =49 7|9
=2 R0l A0IM, 270 th7[2] 20t ZF2 Re2HE J|XE Z01SLlC.

HIZ CHEIRO| LI7H ASALEE 4 QIUE 2iICt of S0|2HSIaks, 1242 Eot of
THCE TS U7H AIT0] A0 7|55 SHSU=G, 0| R0IME ZZ0| of 2,
of L2 b1 2m U, ChEIR OE S99t KIEloiMolct,

* Jovian(E242l): 2X(Jove = Jupiter)Q| H2AF

pp.78~79

R2 Jupiter’s Great Red Spot =49 ci=i

JE
o;..

ol 20| HEo= stz
a. Y42 ol B

) _?_9\10| [HX‘IX%O L 7_!'7-” Dfl:ij|.

. EfIAOINM H 2 B
-l XIF7E Ao 7Y E2 devt

o O T

. Z2oR FHof chet 2l

CEANS CH2 O S

HIRE 0I&sI0 FHIE 4

o o0 T o

22| Y Xl howlnt 2i0|7t 7HeE RARSH 427
a. 2oix|ct b. H&Ct
c. HIES X|=c0t d. 2ct

LIS S oiLie 220| 2 23S XI&E = U= 0177t
ofel Z12?

a. =0ll= S X7t eich

b. 222 =42 tioll 2fsh ollLiX|7t SSEICt

c. A2 =4 oks2 Bit {2 Xe=RH JHES 20

Stk
d. 222 2ot o 22 552 S5t
=S4o| thFoll chali Arao] ofl Z27?
a. 222 ol Ak
b. 3742 7ttt agteh= S0\t
c. 742 4004 Ol St ZxHoh ATt
d. 32 =4 th7]2] 2Z A=0] AUt

of

o

spot [spat] & hemisphere [hémisfior] gt solar system ef7  circulating [sdvkjoléitin] a8t5l=  storm [storm] ZZ planet [plénit]

o2
o

fit inside ~ otof =t Sojarct  edge [eds] & 71aixtzl  howl [haul] (it Sol) MixtAl 2ot possibly [pdsebli] otat=  absorb [ebsdrb] E45ict
feed [fi:d] =ojct  atmosphere [£tmosfior] ch7| although [0:186u] HIZ ~2Uxjate  adjective [£dsiktiv] A

2z

98 Most amazing is [that it has existed for as long as we have been able to view Jupiter clearly].

= T30+ SAt+ 20,9 28

Al 2E0ICL 201E dzol| floll 28 ol FHM F012f SAPE =XIE 2He=, [ ]9f thatZ0[ $0{0]Ct,

toz] It made me glad to live on Earth, [where the storms are smaller, have slower winds, and usually only last for a few

i3

days].

- to live= 22| RIS L= SAN 8Ho2 Mol toHAOICE [ = Earthehs E45
|

O 371 SAE FlokL Ut

MHSH= HAEAFER 201 the storms?t are, have, last

Word Review Test

A 1.circulating 2. fasten 3. dweller

B 1. tore up 2.solar system 3. fit inside 4.alley C 1.d 2.b 3.c 4.a
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] ] FOOd pp.82~83
R1 Mac and Cheese 1 o x|=

Mapping served, mac and cheese, boxed, restaurants
Reading Comprehension 1b 2 cheap and quick cooking 3¢ 4c¢ 5¢

HUCH 4, 012 ST o2l ofolSe| FEHS FALN? ISS B 1 0l 22 R0 B3t 2R
‘OpF2Let RIX"2He SAlg FofBich Gl ofot a0l chsh SO, a. o o X|xE Ol=E
T ge FeM r0|ux1'=;1 TR ¢, WU F0| JISEH B 3 2o 2200 . =4 €l A7 SOM=l7ie] 27 S 01 2 891
L JEZE gAT}ol=RlolA 2I7IE & 0lF
el e 2T UE7H? ° -
d. EXte} 714Gt Al 27t 2 ol XI5 Z0tsh= 0lF

1700EcHo]| Z&AQr £8 Oo[F2|olM= 22|AE0| OPtzLElE Ex

2 3ciol M2, tiZEn M2 KMEste Wa| xa|k=
Hp Rl HE XX AAQ} Shj WLt fo=z9 SHOIA O [HE2 A
AT B R|x AAc 37 Wt oo ooy, 012 s Eof s St Aol oAt 7 SlnEt
NmE2 R 24HEHS HopA] tolto M RS RHUES SIUCE T2Xt 222
0| HS0fLA| Q17| BRICH CE X[2{0] DFFRLIRH RIX, S04 “of Ol X |£"§ 3 aeriold @ %2

ol X|=o0ff Chish =28 4~
—

FHLICtet EF0IM 2 7IE B

morr

3]
o

=
CISH WAlo2 BEEQICE OS2 MAER} AZE HIRQICEL 252 518, &

a =
= = ‘IPIRL s 9= M EHE=Q| 0|20|7|= 3HC|
OFH, 172t 22 CHE MBS FH3HCY, b. ‘OPI2LI"E BR2| T EH=e) 0lZ0]7|= St
c. FUZE YAS Hom Xjaft AIIS0| 2ot S0 22 H
193710l JEZE AlZ0| Axjol £ 9 o X|X LAZ LhEk=r, o7 (ol §g 5713 40| Sic,
AXRE OtAERR} X|= 71271 20 ULt CHEE D M2Xt MACHE S0f, FZ2HZE d. XI= AAct 8 O =45 HMSsHH, 0152 O
OAL RMstn Wa| R2T)7| G0 9172 YT I3t B 9jAol L of Bict.
2 U M X=ZE XZstn 7120 LEE A2 oAX|A| BHSUCH 4 CIS SCIE %S XiEsks #2?
- - . b . d
Z|Z2of, UZA] o o X|=JFCHA| QI7IE 1 QT B2 ARMS0| A7 [2He] 44| & ? c-® @
BIFS DIS7ILE MSXQ! QIMS AT U0k TF AIYS0| o of AIXS BiR0l 5 ool xixol et Moz 8| ye %2?
22| ACL MXIol= 71 7H SRlE HES TS+ UKl E= il AlE, a. B M XIX= 2= MR ASAM 21717+ U,
TV 2t chafol Sl QT OR| 1240l Chah Cf 2 EIAOL], SAIBte] o of b. o 94 XIxi Of21 Closst QaIMOR BE 4 Utk
X|ZZ DIS0{ES Z40| OfEH7|? 274 7ICHSiD aiQlon, A= JHsA0| QUCH c. U o X|== chSE Al7[off LH=IRACE
d. X7|2te] 2 o X|=E A BHE 4= QACH
of

prime minister 44 president [prézodont] th€2 have ~ in common ~g Z£xoz x|Lct bend [bend] 2g; 72t noodle [nd:dl] &
delicious [dilifes] 3tQl= creamy [krimi] 32 2+ 32lo| %o £ salty [salti] ® northern [n5rdern] 2829 curved [kervd] T22{%!

impress [imprés] ztgg Zct  region [rixdson] x/ef ingredient [ingri:diont] M@ herb [orb] 2, 2%z spice [spais] Uy, sz
contain [kentéin] =t Qict matsict  the Great Depression tiZgf instant [instont] ZAle| mztxol  old-fashioned cigalel ale)

recipe [résopi] 22/#f contest [kdntest] A% 5] variation [véoriéipn] =& = possibility [pasebiloti] 7HEsA

-

8¢ On a trip to Europe, US president Thomas Jefferson was so impressed that he had it served in the White House.

=80 ~ that ... 2 HF ~allA --ICf = 52 LIEHACE Thave + =201 + 2HZAL0IM haves MASAZ ~It - &| SICH= 552 LIERHCE,

62l However, the poor quality of the instant mix caused mac and cheese to become seen as low-class and unhealthy.
B SAt ==0f Sx{ZiE0]
= "cause +=X0{ +toR2 AL 5BA L2 2 7t 5P| Zefsict = <lnjo|ck.

l20#t] There are even contests for people, restaurants, and TV chefs to see [who can make the most delicious variations].

- to see Olot= SEAA -] toRHAILE contestsE #4I5HC [ J= Sl2At who7t 0|11= HAEZ seel| SX0{0|C

25
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pp.84~85

R2 SCOBY 2z

Mapping probiotics, fermented, yogurt, benefits

Reading Comprehension 1a 2 digest, clean up, attack 3a 4c¢ 5 who aren’t careful or clean can get sick
QTEZECQ} Zx|= UlE[2(0t0] OJs THSOJRIC, HRQ W “FDUBl= UZO| | o] 2o MEo= ThE HE 22?
10| OfsH BHSOJEICE HHE|2|0tet ERE DJAR0[R, IF URE 3| oA a AzH|o| 712t &5
St MIZOICH AR0[2H 22l T2 022, of2{3t 212t AlZS 7|21 237t b. o SRAPH Aulof=ct S0 £+
CE MBS ASfols 28 ELC SRS 921 S4o| L SEBNE AP o SEes aa e
2 DMES BrE 4 Ut MZel b BS HMS “Amdals o, O FRUESSEEES
0|42 “dtef|zjotet E2O| B HHK 'S ofn|3ict, 2 1ERi0l R, MR0| 2o S0fZ 1 IHSS P2}t
I 9REt Azl waE Kol BHAOIC 0] ATHIS HARE M=o b ARE SRS o =58 T, LR e
’ St71Lt SHEE D|MES ZZsit
%S & Y0 A MROR JISSH AIZStn 7E0| Lis S22 IHS0{UCt
TEI= ZZ0|A LADO] M MAR ML ZEXRE= ASIQHS MAIZ =9} 3 122k culture®t 2lo|7t 71 FAFSE R27?
oIS ofjrat A% Qict a. ol ZZo| YA Xzt UALCE.
b. I SsliR= E2|RE THE| 2310 SLRICE
Ct2 E29| AzHls ALOIH, Ol ATLMA Alohol HIREI0] 2fAlofet c. ARl 0fF QAIS F7H3t 20| 1 548 Hc
£9o2 WL} 0 ATHIS MUAR MZCL IRS R0 oW, 1% . B 284 BEOp] E2Ase 297t B
SRE MPOR JISH A1 B2 RT2ER HHECL ATOE BRAY 22, Lo = ymofe 712t Si0] o 287
552 7K1 1, £5 ZYAHES WiD FUS AN A5 Ur} o st 58 b, SHALIE oA
SO Teie MR0| B0l ECHe A2 AR OFY Azl et mE &M ¢ B
IR 712 FAS USRS UUTH IUSS 0i2420] JFHOIM £l BIUE 5 2w Aziol it 8 74| D= Boielrf?
2 Q7| MR, FAAHILL ZTIA| 42 ARISS ZM DIE ZEi} FHARILE ZBBHX| UL MUSS 48 Azb|=te
HDOIZEE M HS 4 UTH ATH|E E W 550| Qs MFS HISX= HE 2 4 9l
QExgt 28| JE ZAISH0F BiCt
of 3

bacteria [baktioris] gtefzjot  fungus [finges]
probiotics [proubaidtiks] 44z digest [didsést] Astsict chemical [kémikal] ststEzl

[mAfru(z)m] A

ferment [f5vment] 2tE5ict mushroom
be supposed to ~&t7|2 =lof QIct ~aHot sict
place [pleis] &ct runny [rini] 22
S|

regulate [régjuléit]
mold [mould] Z=o|

2z

packed with ~z 7i=st
x&sict blood sugar &gt verify [vérofai] YEsict

Zi@  yeast [jist] &2 mlcroorganlsm [maikroud:rgonizom] O|Mg germ [dzorm] A
attack [ot&k]
SOUr [sauor] Al A|Zst

S2Aslct
float [flout] (2 loil) ect
digestion [didséstion] A5 immune [imjin] #e
benefit [bénofit]

fizzy [fizi] 7Zo| L=
o| prevent [privént] Of&tsict
sled, 0/=  cholesterol [koléstoroul] Z|AEIZ

positive [pazotiv] 2&=el  claim [kleim]

get caught up in ~of 322/t

zxt /infection [infékjn] zt

[

symbiotic [simbidtik] ZA4o|

cancer [k&nsor] ¢

[1e: ]

9¢1 The SCOBY looks like a mushroom, and it floats on top of the tea, producing a sour, fizzy drink [full of probiotics].

= producing Olst= SA| A& LIEtL= 2A

[14%]

= [ J= sour, runny yogurtE $Al5H=

S

= the SCOBY

ol [ = sA[5kE S8A0|CL

a sour, fizzy drinkE

When it is placed in milk, it turns the milk into sour, runny yogurt [packed with probiotics].
[ S

= WHEAOICE

Word Review Test

A 1.recipe 2. ferment 3. symbiotic
C1.b2d3.ad4d

B 1. microorganisms 2. prime minister 3. variations 4. digest
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12 Education

pp.88~89
R1 Code Club == =3
Summary learning, programmers, coding, expanding
Reading Comprehension 1d 2c¢ 3d 4 (A) computer programming or coding (B) acodeclub 5b
A 9l M= S maE X UXI2IS HOHT TRGIAIS 942 Holck 321 1 ol 29 2L 2R

1712 25 MAOIM, & CIZ 7120] 979 M7 [RHZ0|LE E25IKIZ %L 3t a. BRI 712X/ ROl WS HoiF|

OlM ZI2XMXIX| Q4 QUCk 11 7182 HREl D22y, £ o2 F Ho| ZIFN TE SO| W2 YY5i QU= 0IRE 27|
ol 0{M50| 1212 F=e| BE RE5iW Y| YR US| Yo st Urt, ¢ BEERPE SRS MRS Snet

d. Z= 2| xIE M5
DE N2 AFHZ M5 AFEE IR0 MMEN MHSE2 Acetn
2 5 0iN0| I= SRS AN 0|RE BROITI?

S2|= ZAEH AH0E HIS MA ZzOHE OrEr} o e £8iE HIE B
= = ERH :01 —. ce= A == r l - o ee T 1 a. SHSOIZ 2R 612 5242 712X17| YlshM
m2IHHS0| B URSIKI, 0f2! ojzel Z2nSe Saf5rLt istmol b, Elojsiol ZHEE| A2lS 5127 SIsHAl
Z w7tx| 7|ck{of it 2 JHUxiel S0l MESZa|met m2 ool 2ict .. St0| TRIAIS oL S £7] SIsiA
MEElo| o] 2ME ZAlst FE 2SS UHENUCL I= 2 =SS d. 71t S 0| IR X|X5H| A
o277 E 7l2X|= ot & T2 72H0|C}

3 ol 20 m=H, £ Hlelska, cree) s

T 27 SMES 50| & 4 U= AIYS UEE N 22 MO T2 TIY Sapt A SN HE 4 U= XS Mt 2Uct
ODZHESS ApSICE 07| 71 £ 2E20| ULt sHE0| 2= SHM HiRE a. =2l b. 23
=2l A8 M7l 321 BHE = 72 1 S0l 27t =[x o A=A d. g
=Ll EXEE TS| REStHE 2= SRS X0 Tol ZREIS 7KL 1S 4 o) 2014 L2 2 Hof (A2} (B)= 2R 712171712
OR7t Sle MASS 7H0IAIE &2 LEO, 0] AFst 7[2S WHAIF FCt (A ZBE Z2anY £= 3y (B) 2= =3

It 2H2 20120 FE=UXIL, o|0] Yot S=2f F 2,00070 SfuE 5 oS & 2= S| E MYo= X §2 H2?
=i U, G2 ST UCt FAlol stmoll Y= A= ol TIYske a. Wt £ Z2ago(ct
242 ofw|? Stmoi| QICHE, GAl0] IS RIS 4 UCH MEL Z2I2HY XA b. SEUSE 2ioH BB,

_ _ ~ 12
JIRID, SN2 OfolE HOIAS 22 SIHOl A CIXIE HE Bisof 4 O N EE 012K H3
d. @=1} 32l DA 217|2 BT QUct

e Zolct ST
of 3

coding [kéudin] ZE(HEZ A Xzl ma|st 252 Wiy|)  enterprising [éntorpraizin] ZF&9!  primary school zSstm

instruction [instrikin] (Eeje| =) mzd  coder [kéudor] Z#EE 2124y would-be (&tx) ~0| gl2im 5f= teach oneself =atsict
developer [divélopor] 7ietxt logic [lddsik] &=2| low-income family MAS% 71z afford to ~& o197t qlct  develop [divélop] 7HeAlZ |t
valuable [v&ljusbal] 7zt 4z5t  found [faund] &atsict expand [ikspénd] &icheick  knowledge [ndlids] xjAl

breakthrough [bréikOri:] &7|x e / effective [iféktiv] &atiol  illustrate [ilostréit] E2is| #oiZct  support [sop3ut] XIstct

=
2% In today’s world, another skill might be just as important as reading and writing, but it isn’t being taught in schools.

- Tas+ YA +as,Q &g HluZ, ~8kF --5F0 |2k sHAISITE "be being p.p..= SIAZIRY S~SEiZ, ~otodX| QT2 sHAISHCE

152 The logic, planning, and problem-solving skills [(that/which) students learn in Code Club] are still useful, even if
[ S

the students never become programmers.

= [ = The logic, ~ skillsE Al5k= S5 ZAHHAIER, students 20l 582 ZAHHALR! that S which7t M EICE even ife (MAL) ~2t EX|
2t="2k= <jojo|ct,

7] Code Club even reaches out to low-income families [who can’t afford to have a computer at home], developing
L S

these valuable skills.

= [ J= low-income familiesE 446k 21 A HHAIRO|CE developing Olste ¢4 SXf2 LiEtLE EAFE22, and develops these valuable
skills2t1? HHY £ 4= QUCt
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pp.90~91

R2 MOOCs =2

limits, free, Online, certificate
2b 3a

Mapping

Reading Comprehension 1 ¢ 4d

5b

OFF 942 AlHS0| SHH=0I 7k Aof SiCH sfifch, 35,0008 oMo Sst 1 ol 3ol SxE 2RLR
S{AS0| XIBHKIE, 6HAIE D[9lo] USS Sitehert BRI OIM| 2E Afgo] & Pt oI Bl olielx) ok
PR S £2S S 20| JHssiCH SHH=0I0] ORLIC MIT, o2, 71417 b PRSI IS e

= = _ - c. 30| HHES ATKEH7|
WE U 44 H e UF OiEiSE £38kn el P2 2alel Yois HBst
d.

oA F3E shiEatn =24st7|

2 Exj= o 1M sHIEE HEsh=717?

F3E e S 22121 Z2|"E LIEPACE, A2 22E 52 + U= M a. B3 AR5l o Almjst 22 cﬁag FEESIETT
=9| £0f M§to| 17| hEofl cHF20Ict. ‘B FHEX S5 = UCh= HE b. B37} 01EH 2E AlZolA| 2R BSS MEE 4 Q=X
olojstct, AR BEt MBS £ QUChe HE QnlskRle ef=rt HofLt XA 20iF7] sk
AlZto| B3 ARME2 HA(E Zi0|ct R30| SHMES bt Zo|SXF oS c. f Sit= SPS0| AXZ 7K B2 Yol2 EX| R3M=RI
Meptn #x, oM, AIES Y=slob Bict. 22, Suste SMSS 4252 O i
arert d. =0 22 221l 1S MBstetn Safsty| s
3 BIZH(A)f SoiZ B8R JPY HESH 227
F30l= 2 7Kl 2XIFo| ACL chsto] XS MiSske ol =0| SXIB, F& a. At b. 20l= ET5tn
dol= o =& S2{EX| et ALK e 370 Z2lolM 2EHALIE SH c. 0lIZ S0 d. a2t
stz 20| Ofeig 4 RUCH A, 3 $2ES TRFS0I VFEX QM A2 4 g 5 mno) Sriol ol 2 SRR
2 7 ofi B1910] JIX|E UCh 7P ER3 X2, 10LMIE 0]gte] BASO| AlxE a 812 3o 0jeS LiX| oterh
T Yoz £FFICH 20ICH (R SMSS R0 SR g0 FH|=l0f 9 b ol 85501 1S A RIS B 2k
x| ot c. JZC| £BES 7|20 2fsH LOISOIXIX| oi=Ct,
d. Zep rLTOEH 28 27t ettt

a. May: &
b. Chris: Al&izt -?»I 7t || HSn T tr=ch

= —
27 |2|E 2iAlota Q= 2 2! C. Alexa: SHS0| ZoIZ SlsIZ £253 e 4 Ut
d. John: SIYSS SR U3 F4l7} £/0f ofok Bict,
o 3

hopeful [houpfsl] &
offer [5:for] ®IZatct
complete [kompli:t] t=Zsict st

asst

apply [epldi] x|sict
stand for ~£ Lietct

certificate [sortifikot] XtzZ, 425

employer [implSior] 18% count for ~e| 7tx|7} lct

revolutionize [révelifondiz] siAlg o ct

admit [edmit]
massive [masiv] ti7=ol enroll [inréul] S23ict
quiz [kwiz] (2t AIE)
challenge [t{€lind3]
degree [digri:] t2|
flaw [flo:] &, et

for free 222 dozen [dizn] 1274, (pl.) 24
lecture [1éktior] zto|

st sifsict
drop out 4msict
assignment [osdinmont] x|
cheat [tfi:t] Ss191= sict

course [kors] Zeo|, 2t

M = recognize [rékognaiz] QM5

independent [indipéndent] S&xQI

7=
8 Now, though, it’s

= 0|t 2] though= HEAPEO
Zofolck

possible for everyone [to

f2h fAR EXRFe| oniE

take Harvard classes for free]!

LIEIL, it2 [ ]2] toRHAE TIF012 sh= toREALe] o

71Z=0{0|22 for everyone2

12 They cost universities money to offer, but free courses don’t earn any money back.

= O] SAt cost= 484 SAR ~0i|7] -

of (A2t HIZ)o| E71

sichel ofojojct,

Word Review Test

A 1. developer 2. revolutionize 3. certificate
C1.b2b3adédc

B 1.enroll 2.assignment 3. founded 4. enterprising




READING SKILL 04 Al’g ument
pp.94~96
Fixed-Gear Cycling % 710{ xpxi7

Step 1 coast, skidding, react, respect
Step 2 locked, popular, enjoy, brakes, dangerous, react, passed, respect

Step 3 with the gear locked to the wheel, don’t use brakes, cannot stop or react as quickly, respect the safety of
everyone on the road

B XA ER| S50 Aol M2 S35k0| Q8ti5tT UCt (RIFAH) & Step 1zt pHate| siMof - 2t Cr2tofl A EIZiol| L3 THojE MAR,

AXIS0| TX 7|0 AFFA, = TN £2 S2|7| ARRICEH TAoll= A EAI= B0l 2-E offel B 71015 JIXI UeH,
H Inksl=lke T 7|07} QT 22 AEHATE MER XY MEs A2 e
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B ZAl 52152 a0 w=n, JiEn, Ejofl MolR7| thE2ol 2 Xt
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Ats5h= Z45F0| o)C}1 Bts
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B CE AIFS2 22 HSADH 20|22 MESHA| ¢27| t=ol HAZt DS oRHSiCt 2BICt
ottt dzfelct. OS2 LAl SAPt 20|38 AtSstks Bs (s IEWEIRENE
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« DEIFA|7F Z0lske ABKUS| AFHAE AREA M
Elfgh o~ RA0{0F Bk,

+ BE AR O[ZAkE B2 9 2E Al oFis E&0lof
iCt,

KREH7AQ| HEH2 JHOIHQI FSfat ABFUO| ZHX|ZL, QR RF0A|
eks 0|zict 1 7104 (XP‘JH) HEAE2 F7 AlRSQ o
O

KRS XFA Ef7| F0]

T

U 1o

Step 3

S
HO
i3

7| - HEf Qos|0M L2 EHE 018510 22

fo fo
19 1
il
=
fo

I'IF

71047} b0l WEE S £ XRHH0ICE R A—FE
FE2A7F A2 flefottton dzieict, 2 Eisil= B

AIZSIA] 2o, (HIFS) OFEAIF ARHIAS A&7 (7L

Ct. BITHAIS2 HAE ORIE Ee| @571 BISSHA] 2ot
TeHM O B2 AE gozintn 2eit) B2 XHolM 2
AFEAol| E2i|o|=7t 0o BTt FAlsk=
Ch 2E AR 018X = E2 9 ZE Algel oFd
c.

;
§

F-I)h m o =

r°l' n FIH\J—J o2 [|u rlo JFl

of &

trend [trend] =8, M take off Qa#sict ol=sict  cycling [sdiklip] x1&74 Ef7|  community [kemjimeti] 2=, &gt lock [lak] &AI7|CH
wheel [awiil] B coast [koust] (5212 x| ¢m) M=z 2xlojct  pedal [pédl] S Yok MY  customize [kistomaiz] AF2XIZ} Ysts thE BHSCHHFRCH
install [inst5:1] Ax[5Hct backwards [b&kwordz] 7z skid [skid] (olmaixiA stof) opAlZIc  effective [iféktiv] Satxiol

furthermore [farr0ormdr] AC7t  anticipate [entisopéit] oi=sict illegal [ili:gal] 2ol feel free to xEA ~sict












